goboooooooobooobooooboo 20030 80 20 ()OO

gbooooobooobbooooboooboooooooooooobooboooooooobooooon
oogd

1] 000000000000 Ooooo

Py dy
1 —Z 92 8y =
(1) dz? dx 8y =0
d2
(2) d_x:g + 9y = cos 3z
d2
(3) d—;; + 5y = 2 cos 2z

2 000000000 D0O0OO0O00U0DO0O0D0OO0O0O0OD 000OOODOUOUOODOO

Py dy
g6 poy=0
dx? dx Iy

(3] 0000000000000 00OOOOn

Py dy
SV 4 gy =3
clacQJr der 4 *

()y=Az+BO0000000000
(2)00000000

400000000000000OO0O0O0

d’y 1dy Y
dz? ' zdx 4z2
(1)y=+2z00000000000
(2)00000000



Ooo]
[1] (1) y = Cre2® + Cae™ (2) y = C1 cos 3z + Cosin 3z + Zsindz (3) y = C cos Vb + Cosinv/br +
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